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And I do not call her the wife of two dead men

OVERVIEW

X701 27 ruled regarding a woman who was half-slave and half free, and she
received w1TR from 7123X7 and then she was freed completely and married Nynw
(who is the brother of 123%7) and then 1y»wY 12187 both died childless, this widow
may receive 012° from "% (the brother of 1w»w1 321%7) and she is not considered a
wife of two o°nn (who is not eligible for o12%).

mooin asks:
= 0NN Y HYR NN ON 1222 NP9) NI NN 9K ON)

And if you will say; but here why should I care if she is a wife of two 2°n% -
= 13299 1222 2V NPT (3,89 97 mnar) AN 7T D992 139N RN

Since the X711 states in 1°n8 '7 P99 that the prohibition regarding a P of two

brothers is merely 112977, [and the 709 is (presumably) only an Xn320x] -
= NON W KD A 3MN22HNI 27NN 5210 NINAN MM’ SNV 1IN NHY NI

It is an injunction; for if you will allow 012° in this case perhaps people will say
two nm2° who come from one house can be 22nn, but this concern is not
applicable here.

NID0IN answers:
$NFIPVINT 7997 ENPYYA DAN 19297 19929 72 NPT NXMNN 19297 9NN SONNT 921D W

' The 7n (in 7,75 [R¥N] 0127) writes regarding the Mxn of 012> that 7n TAR NI 177 DK 12V °3, we expound it to
mean that 012 is only if she is a widow of one brother but not of two brothers. This excludes a case where there were
three brothers, 12181 married 7m1 and died childless; 1wnw (who was already married to 77%) made a IR» in 517 (but
was not 02> her) and he also died childless; in this case Y2 cannot be %11 02»n since 7n7 is a wife from both 21X
(®xn™Mx) and Nwaw (through the 112777 TMKN).
2 This means if there are two brothers 12187 and 1waw, and 72181 married two wives but died childless, 17w»w has a
mx» to be 021 one of s'121R1 wives but he is not allowed to be 02»» both.
3 In the case of footnote # 1, if 17 will be 77w 02n (who is the real wife of Wwnw) and then be %17 02™n (the wife of
1287, but she also received a aKkn from 1Wwnw), who may mistakenly be assumed to be s'wnw wife as well (since he
gave her a Kn), people will assume that one can be 02>» two wives (2 772) from one husband (1wnw).
4 This P11 N2 °¥m anow >¥n who married 12187 and then (after she was freed) married TWw»w is one person, there can
be no concern that one may permit 71X n°2» NMIX2T M»2° "nw, for here there is only one f»2° (not like the case in
footnote #1, # 3), so why would we even think that there is a problem of 1°"»2° '2 np*1?! See ‘Thinking it over’.
5 See footnote # 1.
¢ This would be referring to our case where she conceivably could be married to both brothers Xn»%T2. See 21
for another case of n"n 2’ 2 np*1. Therefore we may have thought that she is 770X because of 122 "2 np-r.
7 In this case the Aw7 (in footnote # 1) is not an XNMOX, but a RNMRT WA
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And one can say; that there where the 1°%2% '3 np°r was through a 33397 K2,
indeed the prohibition is only 333972 (because of the 121 1R Xnw 77°13); however
generally the prohibition for 712° '2 np>1 is n''n.

SUMMARY
TR "2 NPT is 11277 MoK if she was 12771 nwTIpn, however if it was D" PwITpR
the 7m10°k would be n"n.

THINKING IT OVER

The rule by 1»2° '2 np>1 is that "% cannot be 02 the aRnT NHv2 even if YW (the
one who gave the “nX»n) has no other wife; where seemingly there cannot be the
131 1R RAW 713 (since there is only one 212).8 Seemingly here too even though
we are discussing a 012> of only one person,’ nevertheless it should also be MK,
just like there where presumably we are 7m3 one N2* '2 WK 'R 712, the same
should apply here!'°

8 See X,2% M2’ 132771 7"7 'oIN (the 7"7 is on 2,8Y).
% See footnote # 4.
10 See 0"vmn and awn nom.
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